NEW !
In thisyou will see WHY
Einstein's Unified Field Theory isNOT possible

BUT

ALL theforcesare UNIFIED
NOW using thisbrand NEW

PHASE

concept

Diagnosing what isreally going on in science is pretty much
like diagnosing what is really going on in the medical world.
Only afew (very few) scientists or doctors do it right: Doctor
Joseph Bell at the University of Edinburgh taught his
medical studentsto do it right. He taught his students 'never
to accept first impressions.' Bell told all his students to
examine everything, especially the little things. He said,
"Theimportance of theinfinitely littleisincalculable. "He
taught this to Conan Doyle who realized its significance in
fighting crime and later wrote about 'not overlooking
anything' in his"Sherlock Holmes' stories.

I'm afraid that our big science problem today Is that most
scientists are specialists and very few are examining
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everything.

Even fewer are questioning anything.

Back in 1950, while Einstein was still alive, | ground &
polished, to a perfect parabola, a 6 inch telescope mirror for
Linden High School and after | graduated, | gave them all my
radio equipment that | had for my amateur radio station
W2YDW. | knew, at that time, if our present science was
absolutely right then we should be getting right answers

ALL thetime and not smply afraction of the time.

Today, | consider myself very lucky indeed to have been
given over four score (so years, of good health, and to have
found out exactly why we haven't been getting ALL theright
answers ALL thetime.

And the reason for that Is, we haven't been considering AL L
the forces.

Berkeley and Mach said there had to be invisible force
Inertial linkages with our surroundings (vach's principle). Proof
they were right is the fact that gyroscopes, pendulums,
vibrating elements and Helium-2 all have the same one
complete rotation in one sidereal day which is 23 hours 56
minutes and 4.0916 seconds. This rate of rotation is termed
"Earth rate": Thisisthe exact rate ortime) @any stationary (resativeto
the "fixed stars”) ODSEIVEr 1N space, would see this Earth make one
compl ete rotation.
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Because the Earth rotates in the same direction as it revolves
around the sun, in one year (one revolution) the Earth will
have made 365 and a quarter rotations in respect to the sun
but 366 and a quarter rotations (sidereal days) in respect to
the stars.

In other words, looking out we see the Earth's spin freguency
at alower frequency than it really I1s spinning in space: And
as we look further and further out we see lower and lower
frequencies, than we should, as well (red shift).

The 3 paragraphs above are important so keep reading them
until you fully understand the concepts they describe.

Gyro "Earth rate" rotation is extraordinary: Thisisquite a
substantial deviation from field theory where our Earth, the
largest mass near the gyro, has no effect on the gyro's
behavior whatsoever. But the fixed stars, light years away,
have total control over the gyro: Why?

To actually seethis, do what | did in the 1970s and start an
aircraft vertical gyro running at noon time: Because it
Initially levelsitself, it's rotor axis will be pointing straight
up, pointing at the sun. Then you can observe its "Earth rate"
rotation: At 5 PM it will no longer be pointing straight up. It
will be pointing at the sun while the sun is setting in the
west. I've done this many times. The gyro is ssmply holding
Its pOSitiOn -~ to what are commonly called "the fixed stars' - N Space and the
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Earth isthe thing that isreally rotating. So what we seeis the

gyro holding its position to the sun while we, on Earth, rotate
In respect to the gyro. However, the gyro isn't holding
exactly to the sun. It's holding exactly to the "fixed stars"
that seemingly are going around us about 4 minutes faster
than the sun every day: Thisiswhy the stars in winter are at
adifferent part of the sky than in summer.

To dothisthe gyroscope must attach itself to the fixed
stars. But exactly how does it do this?

Y our present science can't explain exactly why the gyro does
this. Thisis proof that our science is not giving us the
complete picture.

|'ve worked with and trouble-shot the very latest gyro
systems as they came out and I've flown using both vertical
and horizontal (ireciionaly gyro information to keep my aircraft
correctly oriented. | stayed alive because | knew about gyros.
For over forty years now |'ve been asking why scientists are
not trying harder to find these invisible forces that not only
make gyroscopes hold to the "fixed stars' but are responsible
for our inertial mass and the conversion of energy from this
Inertial mass:

This gyroscopic " Quantum Entanglement” inertial force
linkage to the surrounding "fixed stars"' is the phase
symmetry part of "Mach's principle."
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| saw all these thingsin 1966 and knew electron spin was

conserved: Later | saw quark spin wasn't. This pointed to
guark spin as the cause of gravity and inertia but it took me
decades after that to figure out exactly how quark spin was
doing this.

Even though it's been over a hundred years since max Planck
proved that energy is not absorbed continuously but only in
discrete amounts (quanta), a great many scientists still fail to
understand exactly WHY thisis so.

We have quantum theory because of " | mpedance M atched
Bonding" and the laws of "Phase Symmetry". Read on and
you'll seeit'sas simple as that, really.

| mpedance matched circuits abound in radios and TVsto
allow various frequencies to transfer energy. Why didn't
scientists see this was necessary for ALL quantum ener gy
exchanges?

Ampere showed us that when an electrical current was put
through two parallel wires in the same direction (in phase)
then those two wires would attract.

Ampere also showed us if electrical currents went through
those parallel wiresin opposite directions (out of phase) then
those two wires would repel.

If these laws Ampere gave us are seen as Phase Symmetry
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laws then they explain magnetism, AC & DC electric motors

and the entire microscopic particle world including gluons
far, far better than Maxwell's field theory ever could.

Phase Symmetry even explains, believe it or not, Gravity.
And it explains precisely how Quantum Entanglement
works as well.

Phase Symmetry, therefore, not only unifies the forces but
finally also shows us exactly what space and time really are.

Let'stake alook at what Ampere showed us almost two
hundred years ago:

Copied from Encyclopedia BritannicaDVD 2013, "... Had
Ampere died before 1820, his name and work would likely
have been forgotten. In that year, however, Ampere's friend
and eventual eulogist Francois Arago demonstrated before
the members of the French Academy of Sciencesthe
surprising discovery of Danish physicist Hans Christiaan
@rsted that a magnetic needle is deflected by an adjacent
electric current. Ampere was well prepared to throw himself
fully into this new line of research.

Ampere immediately set to work developing a mathematical
and physical theory to understand the relationship between
electricity and magnetism. Extending @rsted's experimental
work, Amper e showed that two parallel wirescarrying
electric currentsattract or repel each other, depending
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on whether the currentsflow in the same or opposite

directions, respectively. ver | (My bold lettering.)

If you look up "Ampere's laws' on the internet today you
will get electrical laws quite unknown to Ampere. Y es,
Ampere was the first to equate the forces associated with
these laws you will find on Google but Ampere did his
calculations with long wires; he didn’t even know about
electrons. There was no such thing as voltage or amperage
back then. Current flow (amperage) is named after Ampere.

Just about half a century ago Scientific American published a
good account of Ampere'slong wire laws. | remember
reading it like it was yesterday. Part of it went like the

af orementioned Britannica statement or something like this:

Ampere discovered that whatever was coming out of his
batteries when put the same direction through two parallél
long wires made those wires aitract each other.

If this substance (later found to be electrons) was put through
these long parallel wiresin an opposite direction, in each
wire, then these long wires repelled each other.

So basically what Ampere gave uswas asimple relative
motion law.

But you'd never know that — or even believe that — If you
looked up "ampere'slaw” inasearch engine. Try it. You'll
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see! And thisisthe big problem, getting the right facts today

when EVERY THING is now all confused with the
Faraday-Maxwell field rules and field math.

Y ou could also see Ampere's laws as "phase” laws: If the
current through two parallel long wires is moving the same
direction or "in phase" then these wires will attract. If the
current through these two parallel long wiresis moving in
opposite directions or "out of phase" then these two wires
will repel.

If you see Ampere’ s laws this way then Ampere gave usthe
Initial concept of phase symmetry which is exactly what
Einstein looked for hisentire life: This ssimple model called
phase symmetry unifies all the invisible forces.

Mathematician Stephen Wolfram said, "Math can only
explain simple things but a ssmple model can explain a
complicated universe."

Phase symmetry gives us the "phase" ssmple model answer

to a Theory of Everything:
Ampere's Laws - that apply to SSSWRs

What is absolutely astounding is that phase symmetry not
only ssimplifies but clarifies this entire complicated universe
In both the microcosm and the macrocosm. It's utterly
amazing!

To learn exactly WHY we have all these things, you will
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have to learn what it's taken me many years to learn:

A very important discovery of Einstein's was something he
detected even later than E=mc? and relativity:

In 1954, about a year before he died, Einstein wrote, "
consider it quite possible that physics cannot be based on the
field concept, I.e., on continuous structures. In that case,
nothing remains of my entire castle in the air, gravitation
theory included, [and of] the rest of modern physics."

Few listened to what Einstein said back then in 1954. It took
me 12 years after Einstein died to see abit more about this
misconception of fields than he saw. | then published my
first book that explained how Ampere had given usthe
method to unify gravity with the other invisible for ces but
scientists completely missed — and are still missing— 1S Supreme
Importance: There was afull page devoted entirely to that
first book of minein the June 18, 1967 New Y ork Times, on
page 29 of the Sunday Book Review section.

Einstein, back in 1954, was telling us modern science had to
change drastically and we had to |look for a better theory
than field theory. Field theory is OK sometimes if you want
to see the end result of billions of these individual quantum
type forces. An example of this being OK sometimesisthe
following regarding general relativity:

Y our GPS wouldn't work without the field theory and tensor
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math of general relativity. It compensates for the difference

In time because time on Earth is different from time in those
GPS satellites: General relativity shows us gravity slows
down time. Earth time should pass slower than time in those
satellites that have considerably less gravity:

Timeis aso being slowed down in the satellites beause they
are moving faster than the Earth. But this still does not
entirely remove the time discrepancy, between Earth and the
Global Positioning Satellites, so scientists used general
relativity for an answer:

Therefore, the atomic clock time in those satellites must be
slower than time on Earth by 38 microseconds per day so
GPS can function properly, anNd — because radio waves go a certain distancein a
certain ime— {1 ME 1S IMportant because time iswhat is being used
to measure distance on your GPS.

Even though this firm belief in fields have given us some
spectacular insights, such as Einstein's general relativity,
phase symmetry makes it crystal clear that field theory has
prevented us from seeing the big picture of what isreally
going on.

Phase symmetry ends up with the inverse square rule, the
same as field theory, but obtains it a different way with
Impedance matched, resonant quantum bound pairs and the
Milo Wolff [imit Huoble imit for the electron).
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The Milo Wolff [imit is needed with all these impedance

matched, resonant bonding pairs because these bonds do not
lose any of their strength with distance:

Thisiswhy your eye receives full quantum packets of energy
no matter how far astar 1s1n the distance.

However, the number of bonding pairs drops off inversely
with the sguare of the distance: Thus, phase symmetry ends
up with the inverse sguare rule the same as fields do.

Thisiswhy we were tricked into believing in field theory.

We have also been tricked into believing that thisisonly a
frequency universe in the microcosm. I'm afraid it isa
frequency universe all throughout and that's why we need
these phase symmetry "phase” rules instead of field theory.

Too few seem to realize that Dr. Milo Wolff has proven the
electron is a spinning, scalar, standing wave: Once scientists
see that the quark i1stoo, then abrand new look at our
macrocosm Is needed because elements there indicate it too
IS obeying these spinning, scalar, standing wave phase
symmetry phase rules exactly asin the microcosm: And this
Istruly arevelation.

What we see as tiny, are higher frequencies than we are
tuned to. What we see as solid, is the frequency we are tuned
to. The macrocosm, that we see as larger, isalower
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frequency than we are tuned to.

ALL of these spinning entities, quarks, electrons, stars,
galaxies, galaxy clusters obey identical phase symmetry
"phase rules' viathelr spin frequencies. And the higher the
spin frequency the higher the energy. The quark has the
strongest force and the fastest spin frequency.

Once you know your smaller building blocks are spinning,
standing waves and you see the larger building blocks — gaaxies
gaaxy clusters— @l SO SpiNNINg then you know what your larger
building blocks really are. (If it walks like a duck and quacks
like a duck then it's a duck.)

We sense that we are built of quarks and electrons. This
works in a standing wave universe as well, where the higher
frequency standing waves build the lower standing wave
structure: The reason for thisisthat higher frequencies have
higher energy than the lower frequencies. \We can count six
of these spin frequencies going from quark to super cluster
but how many this universe contains, no one knows.

Where field theory sweeps the quark strong force under the
'ug, (strong force containment) phase Sy mmetry doesn't have to because
It isthis quark spin along with impedance matched, resonant
momentary bindings that give us not only gravity but all the
Inertial forces aswell.

The quark obeys the same phase symmetry "phase" rules that
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electrons, stars, galaxies, galaxy clusters use.

We know the maximum star rotation period to be 30 days
and our galactic rotation period to be 240 million years:
These are several billion cycles apart.

But the separation between the star spin frequency and the
el ectron spin frequency must be more than that or else we
could detect the electron's spin frequency: It's above our
detecting range.

Thus the spin frequency norm between each of these entities
might be more than many trillion cycles.

The much, much closer number of cycles (close harmonic) of
spin frequency resonance between the electron and down
guark, responsible for element and molecule structure,
therefore is not the norm and must have happened because of
this particular beta decay type of Big Bang that you'll see
|ater.

— Importance of impedance matched, resonant bonding pairs —

All attractions (that we know about) come only via in phase
Impedance matched, resonant bonds.

This means, "the in phase mass of the binding pair hasto
match at the very instant that the bond is made and energy is
exchanged."

Phase symmetry eliminates fields and all the force carrying
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particles of those fields. The bubble chamber evidence of

force carrying particles now have to be seen as evidence of
an entirely different spacetime distortion from a particle.

lmagine two gears, one spinning clockwise and the other
spinning counter-clockwise, with their teeth mesning in
phase.

Similarly, iIf an electron on a distant star is spinning
clockwise in the same exact plane as a counter-clockwise
electron in your eye then atiny portion of their closest sides
are in phase and the mass of that tiny portion in phase isthe
guantum of light energy that comes into your eye: But both
of those tiny portions must have the exact same mass or there
will be no "Quantum Entanglement™ bonding or energy being
transferred.

That quantum of light energy came, that long distance, to
your eye with no energy loss whatsoever:

The reason for the above is that these bonds have the same
strength regardless of the distance! It's only the number of
bonding pairs that decrease inversely proportional to the
distance squared.

There are electrons in your eye that are set up to quickly shift
binding between binding with electrons on that star and then
shift back to closer binding with other electrons in your eye
giving you a quantum of light energy, every shift: At the
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Instant of transfer as the electron on the star transfers this

quantum 0] ENErgy —the star in the higher energy level instantly replaces it — and
few today realize all energy transfers work exactly this way.

Every time your eye electron binds with an electron in the
star, via"Quantum Entanglement”, it gains a quantum of
Inertial mass (equal to a quantum of energy). When it shifts back to closer
binding with your senses, you receive this quantum of light
energy. There are many of these electronsin your eye first
gaining mass by binding with the stars then shifting that
energy to your senses by binding back locally with your
SENSES — and doing that over and over again — Malny thousands of times per
second.

Einstein showed you space could be distorted. I'm showing
you that space exists because of out of phase forces.

Space (space-time) is not uniform nor is it empty: It's built of
guantum chunks similar to energy. Except each space-time
guantum chunk s an out of phase repelling pair, the exact
opposite of an in phase binding energy pair. Electrons and
quarks that bind find a"wormhole" through those quantum,
repelling pair, chunks of space.

Knowing that, you can now see phase symmetry provides
brand new insights as to where space is and where it isn't and
also it shows you exactly why space curves in General
Relativity and even Einstein didn't understand that.
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Y ou now know why time is slowed down in super massive,

black hole stars: It's slowed because of all the out of phase
repelling forces there. Yesthisis super compressed space, so
to speak, nevertheless it's still space.

Black hole stars, such as one we know about in the binary
X-ray system "Cygnus X-1", can slow down time enough to
make itself an unseen black hole. Even though we can't see
this black hole, we know It's there because we see a blue star
that is orbiting around it: The out of phase repulsive forces
BETWEEN all the stars and galaxiesis not as strong as this
and those forces only slow down time enough to give the
"red shift".

Even though no light escapes this black hole, higher
frequencies like X-rays and gravity are not hidden from us by
this massive star. Scientists should have looked for gravity
being caused by a higher frequency but they never did.

When Minkowski showed Einstein it was not ssmply space
but space-time, Einstein thought it was some sort of
'mathematical trick'. Later Einstein grasped it:

So Einstein's teacher, Hermann Minkowski was the first to
say, "Y ou cannot separate space from time." Thisis OK if
you want to believe in all this"super compressed space”
entwined within these massive stars. But if you like to ook at
space the way most of us see it then the best statement isthe
one that Daniel P. Fitzpatrick Jr. was thefirst to say, " Y ou
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cannot separate the out of phase repulsive forces, tha cause

sace, from time."

While these out of phase repulsive forces are producing
space, they AL SO are producing every bit of what you
consider to be aslowdown in time:

Even though you see every star instantly, as soon as you |ook
at it, it's the amount of those out of phase forces between you
and the star that determine exactly at what point in that star's
past you will instantly see that star.

The one thing scientists do seem to agree on isthat the
further you look out at the stars then the further in the past
you are seeing them. Seeing them means you are exchanging
light energy with them:

ALL these energy exchanges must be on the same
Minkowski light cone. Minkowski's light cone -- What it is: 10/16/2015

Thus, these out of phase repulsive forces produce space-time
which is both space and time.

As things grow more massive then there is an increase of
BOTH in phase and out of phase forces:

Thisiswhy super massive stars can become black holesin
which space is massively compressed and time is massively
slowed down (Einstein's curved space). Now back to
bonding:
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More than electrons can bond momentarily: Quarks can bind
momentarily long distances too, via " Quantum
Entanglement”, and also shift their binding back to closer
local binding. They can bind either near or far: They gain
Inertial mass with distant binding to the stars and this returns
as energy as they re-bind back to local binding as in the
following bicycle wheel explanation.

The following explanation tells you how centrifugal force
really works:

Now think about all those quarks in your bicycle wheels as
you ride your bicycle. They are spinning at the sguare of the
electron's spin frequency and they are really massive things.
Asyou ride your bicycle faster and faster all those quarksin
the wheels that are spinning in the same plane as the wheels
and spinning in the same direction as the wheels are now —.ia
trandational motion— N@vING a certain portion of their sides, that are
already spinning close to the speed of light, moved even

up the speed of light asymptotic curve.

This gives that portion of those quarks in your bicycle wheel
MORE MASS. Because the asymptotic mass is increasing
more than the other side islosing, this gives those particular
guarks more overall mass.

Thus, the faster your wheels turn, the stronger the bonding
with the surrounding stars that can offer quarks of any

file:///C|/Users/d/Desktop/phase.not.fields.htm (18 of 50) [1/1/2009 12:04:13 PM]



.
similar exact mass or spin plane to momentarily bind with.

In phase symmetry quarks can do the same long distance
"Quantum Entanglement” bonding that e ectrons can do, so
as you ride your bicycle faster and faster those quarks in your
wheels are making stronger and stronger bonds with opposite
spin quarks in the surrounding stars: Thisiswhy we have
centrifugal force.

It's those stars, all around you, that are holding you up on
your bicycle.

A definite limited number of quarksinside you is doing this
momentarily: That same definite limited number of quarksis
also attracting you to the earth momentarily as well.

Thisiswhy inertial massisexactly equal to gravitational
NESS

And these quarks causing gravity have a spin the square of
the frequency of the electron’s spin (a harmonic) and thus
also can bend light: Einstein was the first to show us this
light bending factor.

There is adirect mathematical relationship between the spin
frequencies of these spinning, standing wave resonances and
our concept of speed:

Y ou will see in the next few paragraphs where our concept of
Speed — derived from electron and quark spin frequencies — IS hot auniversa
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concept and will not work all throughout this universe. In

fact we have to resort to fuzzy math using our concept of
Speed.

Quarks spinning at the sgquare of the e ectron spin frequency
are responsible for the 'speed of light squared' appearing in
our math. And Tom Van Flandern's speed of gravity being at
least hundreds of billions times the speed of light satisfies
mMost astronomers in giving us a stable universe.

Noted Astronomer Tom Van Flandern Showed us that gravity did
not have to happen instantly as Newton claimed but many
hundred billions times the speed of light would indeed be an
acceptable gravitational speed.

My friend BDJ proved to me | erred when | congratul ated
Tom Van Flandern on his paper that put the speed of gravity

in the area of ¢c2, Tom Van Flandern told me,

Thisis absolutely true. But this term c2
appears in our most precious math of mass to energy
conversion. So the math rules are bent to get the answer they
want.

Speed Is distance over time. Physicists cheat; since speed
can't be squared, they break speed into its components,
distance over time, and then only square the distance side of

that speed, not the time side, to get their c2 answer. Now
comes a real revelation: While we can't really square a speed,
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the universe can. The universe is simply sguaring a

frequency which can be squared to get a harmonic. The
guark spin is aclose harmonic of the electron spin. Thisis

why we get c2 in our math.

It's hard for me to believe that no one even looked for the
reason we get ¢2 in our math.

General relativity, c2 and Minkowski's light cone are ample
proof that our concepts of space, time and speed are not
universal concepts that this frequency universe can use.
Space, time and speed are only local gauge concepts, handed
to us by our ancestors that can only be utilized in the tiny
parameters of our particular local space-time realm:

Yes, if we don't go too fast or ook too far or gain too much
mass then our ancestor's concepts work just fine.

This universe correctly uses spin frequencies and not this
Incorrect local gauge concept of speed that we use. Using
spin frequencies instead of speed, this universe doesn't have
any dark energy, dark matter problems.

Unification of the forces can only be done using frequencies
and phase. It can't be done using these ancient local gauge
concepts handed to you by your ancestors.

The quark produces the strong force but gravity is aweak
force. | always saw that if the number of quarks providing
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thisforce is exceptionally small then quarks can indeed

produce this weak force of gravity. Now that you know why
we get ¢2 in our math, let's move on to something el se:

These individual quantum forces can only be analyzed using
either phase symmetry or quantum theory and phase
symmeltry isthe better of those two because the present
guantum theory is not complete: By turning its back on
those quark forces, it only uses half of the existing forces. |
learned abruptly in 1966, while solving a problem in the
avionics section of Pan American Airlines, that there were
forces we weren't seeing. Later | saw the quark spin was
causing these forces.

With modern science, we are only looking at half of the
existing invisible forces.

As | write thistoday, | can assure you that you will get avery
distorted picture of what isreally going on if you only view
half of the existing invisible forces.

Even with Einstein's words, ... physics cannot be based on
thefield principle,” scientists are still using that old field
concept today over 50 years after Einstein's warning.

| agree with those who say our microcosm is an all frequency
universe in which our motion may not exist. But we know
spin frequencies there do exist, Spin frequencies are
|mportant:
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We all know the magnetic for ce emanates from the
electron's spin frequency. But the following shows us
something even more important:

ALL attractiveforcesarein phase, impedance matched,
spin frequency bindings that aso produce your time, the
frequency of which isincidently, 180 degrees out of phase
with space-time produced by the out of phase repulsive
forces (below).

— Extremely Important paragraphs above & below —

ALL repulsive forces — plus space-time (that I'll cover in subsequent papers) — al'€
caused by "out of phase" spin frequencies but there's no
Impedance matching with these: In fact, these "out of phase"
frequencies make you SEE all this vast space between
everything in both microcosm and macrocosm.

|mportant in phase symmetry are some things such as
SSSWRs (Spinning, Scalar, Standing W ave, Resonances)
discovered, and mathematically proven by, one of those
scientists that got us to the moon, br. Milo Wolff. These
SSSWRs are the building blocks of our universe.

| find it hard to emphasize the importance of standing waves
to those who have never worked on radio transmitters. There,
standing waves must be eliminated. Much of my life has
been spent in troubleshooting transmitters and checking
standing wave ratio using a Byrd Wattmeter. But what a
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radio transmitter doesn't need, a universe not only needs but

builds with.

I've talked to Milo Wolff quite a bit about standing waves. |
knew the electron was some sort of standing wave but it was
Milo Wolff who convinced me that electrons had to be
SCALAR, SPINNING, standing waves or they couldn't even
exist:

Standing waves exist only if they transmit a minimum of
their energy. Thisis unlike the normal waveson a
transmitting antenna that must transmit a maximum of their
energy so radios and TV's can recelve this energy signal.

The way these scalar, spinning, standing waves, such as the
electron, are able to keep energy leakage to a bare minimum
Is that they do several things. They spin at a certain
frequency and move on a certain path that keep these binding
and repelling linkages both minimized and EQUALIZED.

In the above paragraph | put the word EQUALIZED In small
capital letters because this equalization of forces, in several
WaYS — produced by this standing wave universe — ISver Y Im por tant because
It iIsamain emphasis of phase symmetry.

Keep in mind that if your building blocks are spinning
entities then in phase attractive forces and "out of phase"
repulsive forces will be EQUAL : Thus we get this universe
of EQUALIZATION of attractive force and repulsive force
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(space).

This vast space in both micro and macro worlds is brought
forth from this repulsion that equals the attractive force
holding everything together.

Phase symmetry shows us this, equalization of forces, works
this way both in the microcosm and the macrocosm, thus
unifying micro and macro worlds.

If we have this EQuALIzATION of forces then how did we get
the Big Bang?

The Big Bang came because of this EQuALIZATION of forces:
We had a beta decay Big Bang.

A beta decay Big Bang solves another problem too: It gives
us the first plausible explanation for the energy needed to
create the Big Bang.

Our present science and especially phase symmetry, shows
usthat ALL energy —both chemical and atomic — COMES from a
reduction of inertial mass (E=MC?2). But, If there is nothing
to begin with, then how do you get the energy needed to
create a Big Bang?

So we eliminate that problem with a beta decay Big Bang,
saying neutrons were already here:

And that's easy to do because in George Gamow's postul ated
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Big Bang, neutrons had to be constructed first, in the first ten

thousandth of the first second.

In 1948 Gamow's group was correct in thinking this was
when our molecular universe began: Yes, in this Big Bang
the first elements and molecules were formed. But the group
was wrong in thinking this entire universe began then,
because an all neutron universe already existed. \We now
know the dispersion of the Cosmic Microwave Background
Radiation (CMBR) shows this Big Bang happened all
throughout an existing universe and could not have begun
al one point.

Neither present science nor phase symmetry allows any
fictitious" pure energy" to produce the Big Bang: Present
science tells us, "Energy can neither be created nor
destroyed." And phase symmetry shows you why thisis so.
Both of these tell us neutronswer e already here and that an
all neutron univer se existed long, long before our Big Bang.

So we have to change only the first ten thousandth of the first
second of Gamow's Big Bang and say that over many
trillions of years, there was some sort of energy leakage
either into or out of the neutron's standing wave frequency
structure: This caused half the neutrons in that previous ALL
NEUTRON universe to go into a beta decay. This beta decay
continued until the other 50% of the neutrons were safely
Inside of the newly created elements. Those neutrons then
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remained neutrons.

Even today afree neutron can last 15 or 20 minutes before it
goes into a beta decay. Thisisindicative of a stable neutron
long before the Big Bang. So phase symmetry istelling us
the fine structure constant is not such a constant after all.

A good half of our invisible forces — because of this
embedded belief in field theory — iswhat present science
faillsto see: I'll be stressing that until it sinksin. Believe the
facts, not what the authorities tell you.

How can you believe authorities who don't even agree with
themselves? Relativity scientists say nothing can go faster
than the speed of light. Y et every astronomical college in the
world tells their students that gravity can't act that slow
because then this universe would be unstable. And thisis
only one of many major science disagreements today.

So once again, believe the facts, not what the authorities tell
you, and that is the essence of this paper.

If you insist on using field theory after Einstein said, "...
physics cannot be based on thefield principle,” and you
tell me gravitational fields or electrical fields are causing all
these entities to orbit, then | have to ask you a question:
What is holding all these entities such avast distance apart in
the micro and macro-worlds; just why is all this vast amount
of empty space (99.99999%) uniformly between everything,
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extremely similar in both micrososm and macrocosm? The

reason Is crystal clear because it's phase symmetry's "out of
phase" repulsion forces. But present science has no answer to
this because, with this embedded belief in field theory, it fails
to see half the forces involved.

As Milo Wolff stated, "Those stars, up there, are more than
ornaments!”

In this universe of ours, things that reproduce themselves
stay here and things that don't — don't. These SSSWRs are
the very basis for that because they reproduce themselves.

Dr. Milo Wolff mathematically proved the electron to be a
scalar, spinning, standing wave that continually reproduces
Itself from the minimal radiation energy |eakage of
surrounding electrons. This shows us our universe produces
standing waves much like radio transmitters do.

But — as Milo explained to me, the radio standing waves on
antennas that are generated from one point, the transmitter,
cannot exist in free space. The only standing waves that can
exist in free space are standing waves that are produced by
energy coming in from AL L directions, which makes these
standing waves SCALAR.

Please entirely forget these positive and negative fields called
charge. These scalar, spinning, standing waves, like the
electron do not obey field theory; they only obey phase
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symmetry phase relationships: Electrons repel other electrons

viaan "out of phase" relationship yet if properly positioned,
electrons can actually bind together — whenever their closest
sides are spinning together "in phase" — exactly as electrons
bind together in sigma and pi chemical bonds.

What makes these electrons bind together?

OK, here's where precession comes into all of this: All these
spinning items such as quarks, electrons, stars, galaxies, etc.
have precession because of thelr gyroscopic torque. Yes, in
phase symmetry they all have gyroscopic torque. Perfectly
rOund, free Spl nni Ng entitl €S —such asthe electron has recently proven to be —
MUST precess away from other similar free spinning entities
because as soon as they begin to orient themselves into an
attracting position where their closest sides will be in phase,
this 90 degree gyro torque will precess both of them away
from any attracting orientations.

S0 to get an electron to attract, other electrons, you simply
stop it from fully precessing.

Electrons having FULL precession will always repel other
electrons having FULL precession: Thisiswhat made us
believe in the concept of charge.

Y ou prevent the FULL precession of eectrons by
super-cooling them: In a sigma type bond, spin up-spin down
Cooper pairs of electrons are what is moving in
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super-conductors.

Up to now, we have only been looking at same frequency in
phase bindings. First the Big Bang then supernovas produced
an entirely different type of HARMONIC in phase binding in
which adown quark —with a higher resonant harmonic spin frequency than the electron
— binds with an electron.

That's what happened in the Big Bang when many down
guarks, in various neutrons, each harmonically bonded with
an electron that was created via beta decay. This prevented
each bonded electron from fully precessing and it could then
attract other free electrons, because it takes two entirely free
electronsto fully precess away from each other's in phase
attracting orientation.

Without those down quarks preventing those el ectrons from
precessing fully, there would be no elements or molecules.

| know this might offend your religion if you firmly insist on
believing in fields of positive and negative charge but I'm
sorry, the phase symmetry way issimply the way it is.

We all learned in school that electrons carry afield of
negative charge and this makes them always repel other
electrons. But this only works on totally free electrons. It
doesn't work AL L thetime. Phase symmetry works AL L the
time.
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Also, completely discard the old field concept of North and

South poles because that will only obstruct seeing the true
picture.

Here's the phase symmetry true picture of the electron:

The strongest magnetic attraction comes when a good part of
the electrons in both magnets are spinning in phase with each
other and with their pole axes perfectly in the sameline: This
means having the pole axis of an electron in one magnet
lined up exactly with the pole axis of another electron in the
other magnet. And when | say axes lined up exactly, | mean
exactly! All these electrons, in both magnets, must be
spinning in the same direction.

These new magnets get far more of these polar axes lined up
exactly than could be done using the old alnico magnets.
This polar attraction is the strongest magnetic attraction
because the entire spins of these electrons are then in phase
with each other.

If there were such things as fields of negative charge around
these electrons then electrons would never attract each other;
but they do:

Magnetic attraction and magnetic repulsion are both caused
by electrons attracting and repelling other electrons via
phase. Thefact Is, we have not only attractive electron to

el ectron bonding in magnetism but also in chemical sigma
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and pi electron to electron attractive bonding. Phase

symmetry shows us what is really happening, so you need to
learn more about this new concept — forgetting, at the same
time, the field concept of positive and negative charge.

In asigma bond an electron in one element is constantly
spinning in the exact spin plane as an eectron on an
adjoining element but one is spinning clockwise and the
other counter clockwise, or aswe say, oneis spin up and the
other spin down. Therefore the closest sides of these
electronsare "in phase". This"in phase" attraction holds
elements and molecules together.

S0 ORIENTATION IS the key of electron to electron attraction
not only in the sigma bond but also in the pi bond where both
electrons are not only spinning the same way "in phase" with
each other but their spin axes must be perfectly in line with
each other.

Precession makes it far easier to line up spin planes than spin
axes, therefore, all energy photons are derived vialined up
spin planesin sigmatype bondings.

Now we learn something important because the pi bond
should be the strongest bond: It's got the entire mass of both
el ectrons spinning together "in phase" . Yet the pi bond, i
chemical bonding, tUINS out to be weaker than the sigma bond.

Why?
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Present science can't answer this. Phase symmetry does:
While we don't see our motion there, in that spin frequency
realm, phase symmetry shows us motion is certainly there!
The poles of those electrons bonding in api bond are only
lining up with their axes exactly in the same line —ror avery short
ime— periodically during the electron's orbit.

The sigmabond is a constant bond: The pi bond is not
because the pi bond is obtained by two electrons that are on
close parallel orbits. The reason that you need a sigma bond,
between two atoms, before you can have api bond isthe
sigma bond locks in and defines the 2 parallel orbit planes.
The in phase pi polar bonding only happens when electrons,
In these 2 orbits overlap periodically exactly pole to pole.

Thistells us a single quantum of energy must come from a
sigma type bond where an up and down spin are in the same
plane.

Phase symmetry i1stelling us that Niels Bohr was right after
all: These are not orbitals. These arereal orbits! But since
there are many orbits with various amounts of energy
changes the end result resembles an or bital cloud.

Sigma and pi bonding not only prove they are real orbits but
there is motion in the microcosm's space-time realm.

Computers will someday snhow that all the myriad bondings
believed today in the chemical world will eventually be
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reduced to nothing but motion and sigma and pi type

bondings, because there are only 2 attracting for ces
available:

An attractive pi bond is where both spins are the same
direction on the same exact polar spin axis.

An attractive sigma bond is where opposite spins are
spinning in the same exact spin plane.

Sorry, there are no other attractive bondings.

Two magnets will show you that: Y ou get a polar attraction
when similar poles are facing the same way. You get a
weaker side to side attraction when the poles are reversed.

By not following Dr. Joseph Bell's advice to 'look at
absolutely everything', chemists and physicists have greatly
complicated things when in reality scienceis far ssmpler.

Everyone has to specialize today in this science world: Only
avery few of us can possibly look at everything.

For that very few of us going from field theory to phase
symmetry it'slikefinally learning the Earth isround.

Phase symmetry shows us why we have Einstein's tensor
math curved space. Y ou saw earlier that Ampere was the
first person to show us how both space and repulsion are
produced by things being "out of phase":
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Space is the average out of phase and curved space in those

massive stars iswhere there is above aver age out of phase
forces.

Thereisadefinite limited percentage of quark forcesin
elements and molecules that are binding with the surrounding
stars and trying to pull all these things apart (a scalar pull fromthe stars
in all directions), W€ notice as inertial mass.

There Is —wmat same— definite limited percentage of quark forces
In elements and molecules that are binding with the Earth,
we notice as gravitational mass or weight.

Thisis Why — all investigations have shown — graVitati ona mass always
exactly equals inertial mass.

Field theory doesn't show that it's the same quarks involved
that give this equality:

Scientists can't see this yet.
Now to iron:

Remember that small capitalized word EQuALIZED earlier that
| said we'd come back to: Well, not only does phase
symmetry equalize quark binding and repelling forces —
within limits — but it 1S the EXACT EQUALIZATION, In the
element iron, of internal quark binding forces inding the element
together) 10 the external quark attracting forces from the "fixed
stars' (pulling the iron dlement apart) that 1S Of SUpPreme importance.
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The bindings of the other elements are not quite equalized as
well asiron.

Iron, nickel and cobalt are together at the peak of the energy
curve. They can all be magnetized but iron at the very top
can be magnetized best. Why do you think this i1s?

It's this equalization of quark internal binding with
surrounding star quark attraction, trying to pull the element
Iron apart, that allowsthis. This allows certain electronsto all
have their spins going in the same direction: Thisis
magnetization. But it can only happen where quark internal
binding is about equal to the quark external, surrounding star,
binding attraction. Knowing this we can make a phase
symmetry prediction:

Saturn'srings are in asimilar egualization area. Remember,
gravity is quark to quark distant binding, and phase
symmetry does not distinguish between micro and macro
worlds. So the phase symmetry prediction isthis; Each one
of those individual rocks making up Saturn's rings will be
spinning, in the same direction, as Saturn's rotation; much
like the magnetized electrons, will all be spinning in the
same direction, in magnetized iron.

Astronomers have aformulafor where rings can form. As
soon as| saw it | knew what it really meant. It meant
equalization of internal binding with surrounding star
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external binding.

Now let's go back to iron again because what's coming now
IS extremely important:

FR KKK KKK — Here'swhereit getsreally interesting —

On the energy curve, asthe elementsto the left of iron get
heavier, local quark to quark binding is progressively
Increasing compared to mass, which is quark distant binding
with the surrounding stars. So we gain energy (local binding)
and lose inertial mass by fusing these e ements via atomic
fusion.

Thereis proportionally more and more quark to quark local binding up to

EQUALIZATION at iron: But then, it's progressively more and more quark to star
binding, over local quark binding, after iron.

On the energy curve, asthe elementsto the right of iron get
heavier, local quark to quark binding Is progressively
decreasing compared to mass, which is quark distant
binding with the surrounding stars. So we gain energy (local
binding) and lose inertial mass by dividing these elements via
atomic fission.

* %k * k¥ k& * * %

Therefore phase symmetry shows us, that atomic energy
evolves when the new element proportionally loses quark
binding with the stars and gains quark to quark local binding.
It also obtains better EQUALIZATION or balancing of internal

file:///C|/Users/d/Desktop/phase.not.fields.htm (37 of 50) [1/1/2009 12:04:13 PM]



-
or local quark to quark binding with external quark

binding to the surrounding stars.
— Extremely Important —

Inertial mass is nothing more than multiple external bindings
to the surrounding "fixed stars'.

When this external binding to the stars is shifted back to
Internal or local binding then mass becomes energy as per

E=MC2: It's as simple as that.

* k % k¥ k¥ %k k¥ %

Absolutely nothing in field theory will even prepare you to
gain this knowledge.

Phase symmeltry isthe very first smple model that perfectly
explains our complicated universe.

Phase symmetry not only tells us but proves beyond any
reasonable doubt something else that is of the utmost
Importance but, in showing you, | won't use phase symmetry
terms; I'll use terms you understand, so bear with meinthis.

Einstein put words to this very important concept that
Newton understood: It's called The
It means you cannot discern gravity from an accel eration.

In other words: if you are weightless in a spaceship far from
earth and that spaceship begins to accelerate at a speed of 32
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feet per second, per second then you would not be able to

discern this acceleration force from the force of gravity.

But for us back here on earth, is this acceleration really here?

The answer is no. The gravitational force we feel is here but
the acceleration itself is not really here: Phase symmetry
proves that. But the important thing is, we do discern this
force itself as an acceleration.

Phase symmetry can explain exactly what is going on here
but present science can't because it completely discounts half
the forces, with the surroundings, that are involved and that
Ernst Mach told us about.

What about this discovered acceleration that Saul
Perlmutter's group discovered?

Saul Perlmutter, himself, stated that this perceived
acceleration was really Einstein's cosmological constant, a
force egual but opposite to gravity holding all the stars and
galaxies apart.

But few listened to that statement just as few listened to
Einstein's statement in 1954.

Einstein, himself, said his cosmological constant was aforce
equal but opposite to gravity holding all the stars and
galaxies apart.
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If thisforce, holding the stars and galaxies apart is exactly

equal and opposite to gravity then where doesthis EXTRA
expanding univer se for ce come from?

ALSO if thereisno actual acceleration viathe force of
gravity then how can there be any actual acceleration with
gravity's equal and opposite force (cosmological constant)?

If the Newton-Einstein Isvalid for
(gravity), then it must also be valid for anti-gravity

(cosmological constant).

Asthe states : We can discern the
acceleration but it is not really there.

The Istelling you that even though
you perceive this 32 feet per second, per second acceleration
by standing on this earth or even though you perceive this
acceleration, of anti-gravity (cosmological constant), by
looking back in time through our latest telescopes, neither of
those percelved accelerationsarereally there.

It's the force itself that we are discerning (cosmological
constant). It isthis actual equal and opposite force to gravity
we are discerning and nothing more. This acceleration that
Perlmutter's group discovered is not any real acceleration
that produces an expanding universe. It's only that same type
of counterfeit acceleration associated with gravity:
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Thus, we present a slight flaw of present thinking using

Einstein's general relativity.

So what this essentially means, boys and girls, is that we
must have no actual acceleration moving all these stars and
galaxies apart!

If they were moving apart then we should, according to
"Mach's principle", be experiencing less and less inertial
mass with time: Well, we aren't are we?

Thereisthis notable "blue shift" in the microcosm: | have
never heard anyone say, " This meansthe microcosm is
contracting."

Even the great astronomer E. Hubble, who discovered the
red shift, warned about us thinking this meant the universe
was expanding. 'Hubble favored the concept of a stationary
universel' —and you will find that almost word for word in the 2013 Britannica but instead of
favored, they spell it favoured— Y €S, WE had a"Big Bang" but that
expansion ended eons ago.

But it's Phase symmetry that puts an end to this " Expanding
Universe" because we know the attractive forces are not
Increasing and since they are equal to the repulsive forces
(space) then space cannot be increasing. Space Is being
produced by out of phase forces that are not increasing:
Therefore space Is not increasing.
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Einstein wasright: Field theory has blinded us.

It was the blind leading the blind that gave usthis
"expanding universe" belief.

| have never believed it, nor has Milo Wolff. It is nothing but
absol ute nonsense.

Therefore we are not in an expanding universe: We arereally
INn asteady state universe exactly as that well known British
astronomer Fred Hoyle clamed we had, all of hisentire life.

Well it's back to that word EQUALIZE again: Phase symmetry
Is all about spin frequencies where the in phase and out of
phase repulsive forces ar e equal — but only "within [imits"
because attractions are always impedance matched, resonant
bonds whereas repulsions are not. But without these
Impedance matched bonds of strong attraction, this universe
could not be built.

So it 1s"within these limits' that this universe is built:

Quarks can not be so big that their internal binding puts them
beyond "these limits'. Electrons are limited to one size
within "these limits'. Stars can not be so massive that their
Internal binding is beyond "these limits'. Galaxies, and
clusters of galaxiestoo, must remain within "these limits".

Therefore, phase symmetry istelling us, in no uncertain
terms, that both attractive and repulsive forces are always
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equalized and balanced and so there can be no expanding

universe over such an extended period of time, asis being
claimed.

On adistant star is a spin up electron that has a momentary
binding with a spin down electron in your eye. Why?
Because both spin planes were exactly aligned. But, because
of thelr opposite spins, avery tiny portion of their "closest
sides’ are"in phase":

That in phase "very tiny portion”, of electron mass, was the
guantum of energy transferred to your eye because in phase
symmetry all bindings are impedance matched bonds. The
fact that they are Impedance matched bonds is the reason
energy can not be created or destroyed and is delivered only
viaimpedance matched binding in quantum units.

As stated previoudly, phase symmetry shows us why we have
Einstein's tensor math curved space. Ampere showed you
that both space and repulsion are being produced by things
being "out of phase":

By abandoning this field concept and moving to this new
phase symmetry concept of space, we certainly see Einstein’s
non-uniform space alot better than even Einstein saw it.

ALL inertia massis derived viaimpedance matched bonds
with the surrounding stars.
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ALL energy is binding energy derived viaimpedance

matched bonds that have switched from bonding with the
surrounding stars to local bonding.

Phase symmetry also states that space-time differsin
different spin-orbit frequency space-time realms:

Thisiswhy we do not see space in elther the quark (QCD)
realm or space in the electron (QED) realm but we do see the
equating forces as binding or repelling in our space-time
realm.

The transition of QCD and QED from gauge theory to a
precise spin frequency space-time realm concept will be
absolutely necessary before aviable Theory of Everything is
possible where mathematical unification of the forcesis
finally accomplished.

L ook at the stars surrounding us. Even the ancients saw them
as "fixed stars' and not moving their respective positions in
the sky: In some respects they can be viewed this way both in
phase symmetry and general relativity. But in other respects,
especially in phase symmetry, there is important translational
motion involved which is responsible for both energy and
Inertial mass. Thisis solid proof of Ernst Mach's inertial
beliefs.

Phase symmetry tells us that thisis a frequency universe and
space Is increased the more things are out of phase. Thisis
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simple to understand.

Phase symmetry also tells us that space decreases between in
phase items. This should be understandable and if you have
read all about phase symmetry you will understand exactly
why.

If you understand all this, and that thisis a phase universe,
then you are ready to read more of the story of this frequency
gpace-time continuum that we find ourselves in: This paper Is
too short to tell you the whole story or even a big part. I'm
only "throwing a bit of light", herein, on how thingsreally
work.

Let’ stake this earth, for example, it’s moving. We all know
that.

But so is everything else. And the further we look out, we
first see stars then galaxies then clusters of galaxies. And
each of theseis spinning at alower and lower frequency the
further we look out.

And each of these is more and more out of phase with us the
further we look out.

So you are looking at things in lower and lower frequency
space-time realms, the further out you look. And if someone
out there looks back at you then they will see Earth the same
way.
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Thus both of you See this"red snift" —fromthese lower and lower

space-timereaims— WNICh 1S NOw seen, as Hubble warned against
seeing, as an expansion that is happening at all locations.

It's wrong and Hubble's warning was right.

AGAIN, The repulsive force space between the various
galaxies and starsis not quite as strong as in a black hole
where no light at all can escape: The out of phase repulsive
force between the galaxies and stars only slows down time
enough to give the "red snhift".

Even more important is the fact that now you can See —because
of these lower and lower space-time realms — Why It ISwe cannot aCcuraIEIy
measure things in this universe by ssmply using this " speed
of light" measuring stick that we have been using.

S0, much of this dark matter and dark energy we think we
need in thisuniverse is merely because of our "speed of
light" measuring mistake.

By using the concept of a gravitational field you will never
understand why a galaxy spins like a solid wheel whereas
planetsin this solar system orbit faster the closer they areto
the sun. Using phase symmetry thisis easily understood.

Space is not one uniform thing: It's amyriad of out of phase
repulsions. Space is the mean or average of these numerous
out of phase repulsions: But these are separate repulsive spin
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frequencies, between everything, THAT YOU SEE AS

SPACE and therein lies the rub: When you describe space —
not only isn't it uniform but — WHICh Spin frequency space are you talking
about? These different spin frequency spaces have entirely
different space-time intervals. There is quark generated space
and electron space and our space, galactic spin space,
galactic cluster spin space, (all entirely different spin
frequency, space-time realms) that we don't yet see.

Because of that EQuALIZATION mentioned earlier, all these
various spin frequencies are producing not only attractive
gravitational forces, only one of which you can even half
way measure, but EQUAL repulsive force space at those
various spin frequencies: It's no wonder that your present
affenstahl science has severe problems with dark matter and
dark energy.

Better equalization of electron space gives light, electrical or
chemical energy and better equalization of quark space gives
atomic energy: Atomic energy Is stronger because the down
guark spins at the sguare of the electron's freguency.

Neglect the quark spin forces and retain field theory and you
remain in the present affensthal science world; the epitome
of the blind leading the blind.

Y ou've got more reading to do, so read and learn all you can
about phase symmetry and glance at some of my other
writings. To get the true big picture of what isreally going
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on, al you haveto do isread. | have never written a page

unless | had something NEW to add. Y ou don't even have to
pay to read these books and pages of mine: Magpul
Industries pays to keep all thison the internet free. And
people al over the world are certainly reading them.

The biggest complaint from my readers, so far, is the fact
that it's not all collated well and some feel they have to read
too much to get the entire phase symmetry big picture. My
answer to them is— most are reading and not complaining.
Just remember, it took me over four and a half decades to get
the big picture and by reading everything you can see the big
picturein far less time than it took meto seeit.

Y ou saw, part of the picture, herein that phase symmetry tells us what general
relativity tells us. But by reading my other books and papers, you'll see even
more: Phase symmetry shows us why mass can be converted into energy and why
energy can only be delivered in guantum sized amounts. Also phase symmetry
shows us what inertial mass really is and how Ernst Mach was right:
Surroundings are very much involved. Phase symmetry shows us why we have

centrifugal force. It shows us why we have gyroscopic action and it does a much
better job of explaining all these things than present science does.

The reader will see how discoveries by Dr. Milo Wolff and Saul
Perimutter, combined with this brand new kind of science, will
produce a veritable Renalssance — a science reawakening.

DPEJr

Mathematician Stephen Wolfram said, "Math can only

file:///C|/Users/d/Desktop/phase.not.fields.htm (48 of 50) [1/1/2009 12:04:13 PM]


http://amperefitz.com/m.wolff.htm
http://panisse.lbl.gov/public/sauldir/saulhome.html
http://panisse.lbl.gov/public/sauldir/saulhome.html
http://rbduncan.com/DPFJr

.
explain simple things but a ssmple model can explain a

complicated universe."

Phase symmetry gives usthe "phase" ssimple model answer

to a Theory of Everything:
Ampére's Laws - that apply to SSSWRs

What is absolutely astounding is that phase symmetry not
only ssimplifies but clarifies this entire complicated universe
In both the microcosm and the macrocosm. It's utterly
amazing!

To keep this page short | had to |eave out many more
Interesting things, but you will have to click on one of the
following links and spend a lot more time reading to see
those.

November 18th 2014

See: Phase symmetry makes guantum theory more complete. 12-02-2013

Phase symmetry makes quantum theory more complete.
12-02-2013 also in Adobe.pdf - phase.symmetry.pdf
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